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Here is some information taken from the toposcope on the Worcestershire Beacon.

Brown Clee Hill N
27 miles

Stourport-on-Severn
15 miles

Worcester
8 miles

Hay Bluff
35 miles

Bredon Hill
13 miles

Tewkesbury
11 miles

Monmouth
25 miles
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Task 1

For each place, measure the bearing and complete the sentences.

Stourport-on-Severn is 15 miles from the Worcestershire Beacon on a bearing of

Worcesteris ___ miles from the Worcestershire Beacon on a bearing of °
Bredon Hillis ____ miles from the Worcestershire Beacon on a bearing of e
Tewkesbury is ___ miles from the Worcestershire Beacon on a bearing of °
Monmouthis ___ miles from the Worcestershire Beacon on a bearing of °
Hay Bluffis ____ miles from the Worcestershire Beacon on a bearing of °
Brown Clee Hillis ____ miles from the Worcestershire Beacon on a bearing of °
Task 2

Ludlow is 25 miles from the Worcestershire Beacon on a bearing of 320°.
Using a scale of 3 centimetres for every 5 miles, mark the position of Ludlow on the map.

Check the other positions that are labelled. Is the diagram drawn to scale?
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